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ACHARYA VIDYA KULA
HALF YEARLY EXAMINATION — NOVEMBER 2018.
SUBJECT: MATHEMATICS
CLASS: VI MAX MARKS: 60
MAX TIME: 1 hiz. 55 min-
GENERAL INSTRUCTIONS
Answer to this question paper must be written on the paper provided separately.

You will not be allowed to write during the first 10 minutes. This time is to be spent in reading the
question paper.

Write the question numbers clearly. Follow the same system of numbering as given in the question
paper.

Attempt all questions from section A and any three questions from Section B.
All working must be done on the same answer sheet.
All geometrical figures must be drawn.

The intended marks for questions or parts of questions are given in brackets [ ].

SECTION - A (30 MARKS)

(ATTEMPT ALL QUESTIONS FROM THIS SECTION)

QUESTION:1
a. Find the sum, difference and the product of place values of 8 in two given numbers 28967
and 90876. [3]
b. Write the degree of the polynomials 31

19y* + 3y"+ 8 0.3y —-4y 4+ 6x il 1-20x°  iv. 100x* v. 4%y vi.8x° - 2x+3

c. From the given figure, find

i. a pair of intersecting lines. M L
;\ A
ii. a pair of parallel lines. \ i
X y
lii. Point of intersection of lines p and m. \\ ﬁ
iv. Collinear points. 5 ‘\\

3]
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QUESTION: 2

a. In an examination, a student multiplied 30,425 by 37 instead of multiplying by 73. How

much was his answer greater than or less than the correct answer. [4]
b. Find the sum

3x—4xy—y*; 3y’ -2x+9xy; 8x+2y’—3xy [3]
¢. Inthe given figure, if 3]

i. a=125%, find b
ii. b =230° find a
iii. a = 4/3 right angles, find b

v
A
QUESTION: 3.
a. Estimate the difference 90783 — 4792 3]
i. To the nearest ten.  li. To the nearest hundred. lii. To the nearest thousand.
b. If a=3,b=1and c=4, find the value of : [4]
i. 8a—3b-4c ii.2a—6b+3

3c
c. The given figure shows a pair of parallel lines cut by transversal. Find a,b,c giving reasons

e =

SECTION - B (30 MARKS)

(ATTEMPT ANY THREE QUESTIONS FROM THIS SECTION)
QUESTION 4
a.  See the following pattern carefully.

A A A A\
% / \‘" !/ \*: 3/ g,/ﬁ‘:i\‘/f “-"/ x\\
| ] | { i { i

b Poad b
V RS NN S
Fig (i) fig (ii) fig (iii)
i. If n denoted the number of figure and s denotes the number of matches, find S in

terms of n. [4]
ii. Find how many matches are required to make the 12'" figure and the 26 figure
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b. Write the co-efficient of x in 3]
i. 23y ii.3xy? i 2/3x3Y
c. Construct an angle of 45‘using ruler and compass only. [3]

a. Use number line to write the following integers in [4]
I Ascending order: 0,4,-5, 6, -3,3,-1,-2
ii. Descending order: 4,-6,7,3,-5,%,3,5.

b. Evaluate: i. (3x-2y) (x+vy) 13

c. Two complementary angles are in the ratio 2 : 3 Find the angles. [3]

QUESTION:6

a. Find the smallest number which when increased by 3 is exactly divisible by the numbers
130, 80 and 150. [3]
Simplify : 10a - [7h - {3a— (4b - 22- 3b )}] [4]

c. State true or false, if false correct the statement. [3]

il Only one line can draw through three non-collinear points.
ii. The intersection of two planes is a straight line.
iii. Concurrent lines always meet at three points.

QUESTION:7

a. In each of the following numbers, replace M by the smallest number to make the resulting
number. [4]
i. 793 M 6 divisible by 9 ii. 16 M 374 divisibleby 11.

b. Find the greatest number that will divide 132, 242 and 382 leaving a remainder 2 in each case. Y_ﬂ

c. In the figure given alongside, AOB is a straight line. Find the angles AOD and BOD. 3]

210 /% +40
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QUESTION:8

Given A ={Even natural numbers less than 15}
B ={ Prime numbers from 1 to 25}

C ={Faciors of 12} and D = {Odd numbers divisible by 23.

Find n(A), n(B), n(C) and n(D).

Fill in the blanks:

2a-3b+4c-d=4c+(..
-3p -4q+2r-4s = 29— (..

Add the following:
i. 23°30” and 4° 12’ 53”
i. 81°20’ 43” and 32° 48’ 25 “

[3]

[3]




